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PART —A
Answer all questions. Each carries ¥z mark.
[ are statistical devices used for presenting frequency distribution.
2. Afrequency distribution when cumulated, we get distribution.

3. The difference between the highest and the lowest values in a series is
a) Range b) Mean c) Median d) Mode

4. Itis a mathematical measure of the average relationship between twe or more
variables in terms of the original units of the data

a) Regression analysis b) Regression coefficient
¢) Regression equation d} Regression line (4xY2=2)
PART-B

Answerfour questions. Eachcarries one mark,
What is correlation coefficient ?

What do you mean by elasticity 7

What is median 7

Explain time series analysis.

What is ogives ?

2 - o =

Define probability. (4x1=4)

P.T.O.
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PART-C

Answerany six questions. Notexceeding one page. Each carries three marks.

¥l
12.
13.
14.

14;
16.

Tt

18.

Write a short note on Baye's theorem in prebability estimation.
What is coefficient of variation ?
Differentiate between census and sample.

Explain :

a) Bernoulli Process
b) Bar Chart

c) Histogram

Find the elasticity of demand with respect to the demand function, X = §/P32,

Calculate the arithmetic mean of the daily incomes of 5 families Rs : 10, 90, 85,
103, 11

Find the coefficient of correlation between X and Y.
F 2_1'3 4]5[6[7] 8
[Y[4[5]8|8|9]7]10

It 3% of electric bulb manufactured by a company is defective, find the probability
that in a sample of 100 bulbs, exactly 5 bulbs are defective. (6x3=18)

PART-D

Answerany two questions. Each carries eight marks.

19.

20.

Compute the coefficient of correlation between heights and weights of ten persons
and comment.

'Heights (inches) | 62
 Weights (kgs) 50

72178158 [ 65 70 55‘5'3 60 ?2‘
65|63 |50|54[60|61|55)54 65

a

Year | 1723 5 6 |7 |'"é_'" ¢ [ 10|
Country A | 86 | 74 | 68 | 50 | 99 | 172 | 245 | 302 | 232 | 345
Country B | 254 | 231 201|172 | 189 | 187 | 166 | 203 | 200 | Emﬂ

Evaluate the trend in two times series by the method of moving averages.

.- The number of calories in a salad on the lunch menu is normally distributed with

mean 200 and standard deviation 5. Find the probability that the salad you select
will contain a) more than 208 calories b) Between 190 and 200 calories. (2x8=16)




